
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Monday, 1116-1
Confidence interval for a population proportion.

We want to measure the tion of
a culation3stopor 9

that has agiven property .
For example, what

proportion :
(i) of voters support a certain candidate ?(ii) of cell phone users develop brain cancer
(iii) of cross-bred peas will turn out to be

yellow?

We know that a 98% confidence interval

will look like

( * - 2 .

33 / x+ 2, 33 in (CI98)

for a random sample of size n, but : what are
X and s ?

Answer : assign a I to each member of the

population that has the property, and a O

to each one that doesn't . Suppose the
number

is fo Thethesamplewhohave theproperis

X = fo1 + (n -f) .0 =
M

which is just the Jk1& samy croportion (the
proportion of the sample that has the
property). Call this proportion &

Also,



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


